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10.

You have been given this question paper and a scparate answer sheer. The question paper contains 50 questions.
Do any necessary rough work in this paper.
When you have chosen your answer, mark it an the ANSWER SHEET, not in this question paper.

HOWTO USE THEANSWER SHEET

Use an ordinary pencil cnly.
Make sure that you have written on the answer shesr.
. YOUR INDEX NUMBER
YOUR NAME
NAME OF YOUR SCHOOL
By drawing a DARK LINE inside the correct numbered boxes mark your full Index Number (i.e. School Code Number
and the three- figure Candidate’s Number) in the grid near the top of the answer sheet.
Do not make any marks outside the boxes.
Keep the sheet as clean as passible and do not fold it
For each of the questions 1- 50 four answers are given. The answers are letterca A, B, C. D). In ex=Y rzsconly ONE
of the four answers is correct, Choose the correct answer. I
On the - iswer sheet the correct answer is to be shown by drawing a dark line i=side the box in which the letter you
have chosen is written_

Example:-
In the guestion Paper.
14. Work out the value of: 42 + 9
222

AL485
B.97
C.24.75
D.13
The correct answer is A,
On the answer sheet:

M2 <o) @alBic)D) =Bl cl o) R (a11811C) D) RN 1A) (B](C) D)

Inthe Third set, the box with the letter A printed in it is marked.

11. Your derk line MUST be within the box.

§Z. Forenach question ONLY ONE box is to be marked in each of four boxes,

This Question Paper consists of 4 Printed pages

Candidates should check the guestion paper to ensure that all the pages are printed and no questions are missing.

TURNOVER

Compiled by Schools Net Kenya
Available online at www.schoolsnetkenya.com | E-mail: infosnkenya@gmail.com | Mobile: 07 11 88 22 27



1. What is the place value of digit 5 in the product of

567 and 287
A, Thousands B. Hundreds
C. Five thousand D, Hundrendths
Work out the value of: .18 x 4.28
1.2x08
A.802.5 B.B025 C.0.8025 D. 8.025

Which of the following 1s 80500303 written in

words?

A Eight million, five thousand, three hundred and
three .

B. Eighty million. five hundred, three hundred and
three

C. Eighty million, five hundred thousand, three
hundred and thice
D. Eight million, five hundred thousand, three
hundred and three

Round off 6937.3407 to the nearest hundredths

A, 6937.340 B. 6937.34

C.6937. 3¢ D. 7000.00

Ali ran around the ficld below three times and

covered a distance of 0.81 kilometres

{Take pic = 22) A

7

102m

C
What is the shortest distance between D and C?7
A.2100m B.33m C.42m D. 2im
The total population of birds in a bird’s santuary was
342878. The young birds were 878 more than the
adult birds. How many young birds are in the

santuary?

A 171878 B. 171000 C. 342000
Work out the value of: G/,)? 77
22T B3 e L) D. 7%

A customer pa:d sh. 21840 for a refrigerator = fter
getting a discount of 9%. What was the deduction?
A.sh. 4320 B. sh. 2160

C. sh. 24000 D. sh. 19680

The tzble below shows the postal rates for sending
money orders:

D. 345756

:ﬁ(ﬁ} money order money order
commiission commission

Upte 500 42.00 77.00

501-1000 114.00 146.00

1001-3000 174.00 203.00

3001-5000 209.00 237.00

5001 - 10000 295.00 319.00

10001-20000 44100 503.00

20001 -30000 617.00 656.00

3D001-35000 657.00 682.00

bun sent ordinary money order ol sh. 8500 to
his son in Majimazuri and sk 9000 express money
order to his daughter in Malindi. How much total
did he pay at the post office altogether?
A. sh. 17500 B.sh, 18114
C. sh. 18138 D. sh. 17590

10. What is the possible value of p in the following

11.

12

13.

14.

15.

16.

Iy e

i8.

19.

20.

i-nﬂq]-mlit}' a

p-5<Tp-17

A2 BlS ol DS

A lorry weighs 7.9 tonnes when Ioaded with bags
of beans. The empty lorry weighs 2.4 tonnes How
many bags of beans each weighing 55kg were
loaded on the lorry?
A.1000 B.S550 C.55 D.100
Construct tnangle ABC in which line BC= 7cm. line
CA= 9cm and angle ABC= §4° Bisect angle BAL
and let the bisector meet line BC et D. What is th
value of angle ADC?
A. 110 B.70° C. 44¢ D. 50¢
The table below shows the number of pupils who
voted for their favourite fruits.

Fruits | Apples | Straw- Pas- | Gua- | Paw- |Lem—
berry sion | vas paw | on
No.of | 10 12 I3 We-t- - |7
pupils fd
The average number of pupils who voted for each

fruit was 10. What would be the angle for those
who voted for pawpaws if the information was rep-
resented on a pie-chart?

A 90° B.57.6° C. 48° D. 28.8°
Simplify: 3Qx + 2v) - 6x
2(3x - 4y) + 8y

A6y B.6x+3v

6% 3Ix + 8y
(250 D. 3x

x 4y
The figure below is a trough. The trough was painted

on the outer surface.
Z0cm

{ :141:1:1 E 9
What area was painted? ( Take pie =yv)
7

A 1034em? ‘B. 1540cm?®

C. 5%4cm? D. 1188cm’

Joram is paid sh. 8400 per wesk. How much was he
paid in a week he was absent for 3 days?

A:sh. 1200 B. sh 4800

C. sh. 3600 D. sh. 2800

What is the next number in the sequence

below?

0,2, 5.10,17

AL26 B.34 €.27 D.28
Whnluth:vahmpf‘! x' -l-'f of 1 <+

A Vi B ET D.",
'l‘muu-a:wrsstanplnughmgashambnalmvais
of 1 hour, 40 minutes and */, hour respectively. Al
11.00am they were started off together When will

they be started off together again?
A. 1.00 am B. 1.00pm
C. 12.00pm D. 1.30pm

A farmer used his 30 hectare Iand as follows:
'/, of the area on planting beans
'/, of the area for coffee
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23.

24.

25,

27.

28.

29.

!/ of the remainder for planting maize and the
rest was planted potatoes
How much land was planted with coffee and maize?
A.15ha. B.10ha C.5ha D. 20 ha
‘What is the value of x in the following equation :
Sx-2+4x=12
2
Aoty B,

G2ND. 17

. The temperature of a liquid was 78°C. It was cooled

at the rate of 3°C per minutes for a quarter hour.
What was the reading after cooling ?

A. 63°C B. 33°C
C. 18°C D. 75°C

A 08 B.B C.80 D. 800

Saja bought a school bag and 2 pencils for each of
her 5 children .The pencils cost sh. w each and the
bags cost sh. 6t each. How much money did she
spend altogether in shillings?

A 30t + 10w B. 30t 4+ 5w

C. 60t + 10w D, 30t + 2w

The diagram below represents a rectangular plot of
land drawn to scale. If the actual length is 120m,
what is the scale used to draw the plot?

A 1: 150000 B. 1: 1500
C. 1: 15000 D. 1:150

- The area of a square floor is 625m2. How many
square tiles of side S0cm will be used to cover the
floor?
A.235 B.250 C.2500 D. 25000

Somo deposited sh. 10800 in a bank which paid a
simple interest. At the end of the tenth month he
withdrew a total of sh. 11340. At what rate par
annum was the interest?
A, 6% B. 0.5% C.12.6% D. 10%
Babies in a health centre were found weighing 9kg,
1tkg, 22kg, 6kg, 7Tkg and 8kg. What is the sum o
the mean, mode and median of their mass?
A.19%g B.105kg C.8.5kg D. 2.0kg
The area of the trianglc below is 2.16cm?. What is
the length of CB?

i g Roefie 2
BERS

30. Selly bought the*following from a kiosk:

3 packets of unga @ sh 122

2/, kg of sugar at sk 100 per kg

4 bar soaps at sh. 91 each

Iwo- 500g packets of salt for sh. 30

Y, kg of cooking fat as sh. 160 per kg

She paid cash with 6-two hundred shilling notes 2ad

was allowed a discount of 4%. How much
balance did she ge1?

A.sh.42 B.sh. 192 C.sh 30 D.sh. 150
. Construct a rhombus QRST of side 4cm. Let the
acute angle 55° be at QRS. What is the lenght of the
longest diagonal in decimetre?

A 36 B.72 C. 036 D. 0.72

During drought, a camel lost 16 kg. What was the

ﬁac:n;agc decrease if the mass of the camel is now
o7

A.10% B.I11Y% C.28% D. 16%

- Musa and Sam shared 420 mangoes in the ratio 5:7

respectively. How many more mangoes did Sam get

than Musa. ¢

A. 24 B.245 C.175 D. 70

What is the measure of line ED given that the area

of the figure below is 112cm?

E = b

= A. 24cm
B. 12Zem
C. 43cm
D. 32em

W
L]

34

8cm

Aq—'@_—-—— 13cm £
35. The table beow shows bus fares between town A and
G 23 shillings

»n|B
e | 40| C
g0 (so| 40| D
€0 | 7o | 80 |40 | E
1004 6D |60 | 50| @0 | F
1zo0f 9o | vo| so mn—lG
Francis travelled from G to A via E in the moming
and then travelled back 10 town C. How much in
total did he spend on the journey?
A sh. 120 .sh. 140 C.sh 160 D. sh. 200
36. ’gg}misﬂmva]mnfangleBACintheﬁgurc
ow?

A 800
B. 50°
C.40°
D. 1300

(10 N2 0r+25)"
G

B 3]

37. A motorist left A at 7: 30am for town B at an aver-
age speed of 80km/hr. He got a punture at 11:30am
which took him 45 minutes to repair. He resumer!
his journey and took 2 hours and 15 minutes at
speed of 100km/hr. What was the average speed for
the whole journey?

A. 77 km/hr B. 719 kaw/br
[PE7=ras iz C. 89" Jkan/br D. 90km/br
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~8. Construct a triangle X YZ in which angle XY Zs
75° XY= Bem and YZ=7cm. Draw a circle to pass
through the verticles of the triangle. Measure the
" :

A. 9.6cm B.2.5¢em
C. Sem D. 4. 8m

39. A salesman eams a salary of sh. 9000 per month.
he also eams a commission on the sales above sh.
20000. In a certam month, he sold goods worth sh.
1000060. If he carned a tomal of sh. 10600, what is
the pereentage commission paid?

1 A 8% B.20% C.16% D.2%

40. In the figure below, line PQ is parailel 1o line RS.
Angle PRQ= 34 angle RSQ-68°

= = <
34',_..-'""-- =5
= 2 8"
=
What is the size of angle RP(O?
AL GRS B 124* Q. 1120 D.78*

41. The marked price of a TV set is'sh. 40000. Mr.
Wema bougg? it on hire purchase terms paying a
deposit and ten monthly instaiments of sh. 3000
each. If the hire purchase price was 25% more than
the marked price, how much was the deposit?

A. sh. 30000 B. sh. 10000
C. sh. 20000 D. =h.-300

42. Work out the area of the shaded part in the figure

below(Take pie=22)
) 7

I5an 14 ;
: I

I0cm -
A 364cm” ‘B, 386.75cm?
C.38325cm’ D. 402.5cm?

43. Abdi bought three trays of eggs for sh. 900. He paid
sh.100 to transpaort the egps 1o his shop.During

: ion ten eges broke and she sold the rest

in'?ﬂ' of 5 eggs for sh. 60, What percentage loss
did he make given that a tray has 30 eggs each?
A.8% B.12% C. 9% D.4%3%

44. Hassan is threc times the age o Marves, Wefiwatwa
is 30 years younger than Marcos. Their total age is
90 years now and Hassan is h vears old. Whi:E:;t‘
the following expressions can be used to find the

age of Marcos?
A.Th-30=120 B.¥h+30=120
C. 7h +30=90 D, h-30=120

45. The following are properties oi a quadrilateral:
(i) Opposite sides are equal and parallel
(i1) Diagonals bisect cach other 10 form right angles
(i1i) Opposite angles arc equal '
v} Has a pair of paralie! linss
v) All interior angles add up 1o 360°
Which properties are for a tmpesdum?
A.vin By Civ. v 2. ik
46. The capacity of a rectangular wnk with a square

base is 288 litres. T the hoish! is 180om: what is
NALTROO CI'TY O

Y MOCKEXAMS 3016

the width of the tank? | 2

Ao l6em B.0.0l6ecm  C.04cm D. 4em
47. Kiwaya planted trees between 27% February 2012t

4th April 2012, If he planted ten trees each day. ho

many trees did he plant altogether?

A.350 B_380 C.360 D.370
48. What is the volume of the solid below?
Bem
m
12cm
A. 1440em’® B. 1200em’

C. 720cm’ D. 760c¢m’

49. A school campound is in rectafigular shape as show
below. Kahindi fenced it using posts. The posts
were plaﬁeg na{; mntervals of 5m

m

152m

The space for the gates was 4 metres. How many

more posts were used? :

A. 141 B.139 C. 140 D. 138
50. The figure below shows a pattern of shapes

-

MATHEMATICS

Compiled by Schools Net Kenya _ _
Available online at www.schoolsnetkenya.com | E-mail: infosnkenya@gmail.com | Mobile: 07 11 88 22 27



